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fe dt — xcos x

1. (10 773) K lim=2

x-0 X —sinx

1

2. (10 \)jenm Z k*

=1

. 1x* —x?
3. (10 %) frﬁ??ﬂﬁj\jo — sin(lnx)dx (a>p>0).
4.(10 4) VSTHIZERUN ) yods, HA C Xt +y? +2° =al Hx+y+2=0 %L,

5 (10 7 ) it & h i AR o H(2x+3)dydz+(3z+4)dxdy A DI SR =
z

(0,0,0),(1,0,0),(0,1,0) A2 (0,0,1) iy PU i 4 () Fh 2 1.

6. (10 73) ¥ f(x)7E (a b) XIAHEELE, Hla<x <x,<---<x,<b, WIEAFEE e[x, X, ],

7. (15 77) Bt f(x) £ [0, +o0) ML, HXS Ve >0 B ﬁ\j”f( ) #0581, WA 7Y

vz>y>0 ﬁrwwm: f (O)Iné.




8. (15 4) k> nex" sl K AR AL,
9. (154)) MR u=xyz LM X +y -2 =1 Ko x+y+2=02 N R EH WM.

10. (15 45) BORUCSORIN {x,} 45, SUEAEEE {x, } BRI To1 {xO) 2 {x ) i

A imx® = limx?.
k k—ow K

—w K

1. (15 4) B F(xy) 09 =W IR & 0 S BOTE (%0 vo) 048 380 P 3% 8 R iE 72 15

0<6 <1(i=1234), flifd f (%, +OAX, Y, +6,AY) = f, (X, +OAX, Y, +6,4y).

12. (15 43) & f(x)7E[a b] LA 5 Hig 2
(1) f'(x)>0, f"(x)>0%vxe[a,b];

(2) f(a)<0, f(b)>0;

/%Xlzb—m X —x—f(x”) (n=12--).

f'(b)" ™ f(x,)




